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Reminder: f(x) =y

List x and y values in a table:
2 %
51

Identify the input and the output for each:
a.f(2)=3 {*2 b.f(-9=01:-9 c.f(5)=-1
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Notes 4-3 Evaluating Functions and Operations on Functions
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For the examples above, what is the domain and what is the

Y

m‘nqe

0:3
range?
D: 2 -9 R: QA -
N ) % o N~
(

OUTPUT
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We can Q Va l Ua ‘(—'Q functions both algebraically and

graphically.

We can evaluate an equation by replacing the \NaY \(Kb(Q with a

given VMWL and
simplifying the equation.
Example:a=2h-7forb=8

a=2(8)-7
o= lb-7
a=9
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Just like we can evaluate an equation we can evaluate a function
in function notation. We evaluate the function by replacing the

>< with a given vVa \ ue and simplifying.
Ve idbl

Example: For f(x) = -4x + 7, find each value
a. f(2) <= b.f(-3)X=> ¢, £(0)

-q)(‘F —-‘—I)(-I-7 == 17
Wity +% ‘%‘23) t/ <1Q3}fj

We can evaluate functions 9{aehim“>fby seeing what the y-
value is at the given x-value

(-2
a, f(;){ b.f(1) =4 af-0=| bfo=0
cf(0)=3 df3)=§ cfm=| da f(2)=Lf
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To add two functions f and g all we need to do is add 'q‘;()

and (’( then combine like terms.|(f + g)(x) = f(x) + g()ﬁ{

Example: Find (f + g)(x) for the following functions
a.f(x)=3x-2,g(x)=4x-4

£x)+9(x)
2x-2 +4x-9
SX+-o-y

b. f(x) = 2x? + 3%, g(x) = 4x% {?V\d @’1‘9)5()
€ + 909
2)( +3)( + IY

To subtract two functions f and g all we need to do is subtract

»\f()() and a(/}combmellketermst g)(x) = f(x) - gm

Remember to use D arén ‘HLQ%S when we subtract so
we remember to dlstrlbute the V\€<75\'l‘l VQ

Example: Find (f - g)(x) for the following functions
af(x)=3x-2.g(x)=4x-4

6/~ o)
(3x=2) - (4x-4)

- Lfi—ZH/
-"X +2
b1 -2+ 33, g0 = 42 Aindk (€ -9))
£x)-9()
(2124_3}() . ("{Xz)
2x T Yx2 43y




To evaluate expressions in the form (f + g)(a), firs‘t Eewrite as
f(a) + g(a). Once in this form, evaluate each piece, then perform
-

SEWWH-Q\\,

the operation.

Let f(x) = 3x - 5, g(x) = x + 3. Evaluate each of the following:

L (f+9@)=F(2)+9k) £0R)=2x-2
2232-5
R el
9@)= x+2
T3 ”
2 (f—g)(m:{’(g):%(o:) o) ;g‘é
)= X+
()' (>)(+3 3
3. + = ’{\) %)( S
g rf‘l)Z'\f-(i)“ ’I’IBI 3_5:-1

fl= 3{{:) 5

57"
4. f(3)-g(-5)= £E)= '%Y-s
12 %54

&} 9= X2 -2
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